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Combined Graduate Level Examination-2019 (Tier-I)

[Roll Number

Candidate Name

Venue Name

Exam Date 03/03/2020
Exam Time 4:00 PM - 5:.00 PM
Subject CGLE Tier |

Section : General Intelligence and Reasoning

Q1 zdor B weg F OE R @ T W IERET-THE F FE 9o ofr HF & g

5G7TNPQ4
T rxophpqAULO @

“:pOQUYOS
v:hOY9UTYD
““CAUDBOY

Question ID : 81616123
Status : Answered
Chosen Option: 3

Q.2 fy A=l et 1 3= deH F 39 F7 ¥ 3O It G o e S
T W 2feq HFgHA A AT FO? .

1. Isomer
2. Isoline
3. Isotope
4. |solate
5. Isologs
6. Isonomy

Ans 51 |soline

« 2 Isologs
< 3. lsomer
< 4 |solate

Question ID : 8161612
Status : Answered
Chosen Option: 2
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Q3 Femst ¥ 9w g fw av €, e @ O R A fh e @ wee § e o e B s
FUAT TEHT-JIH & T8 HL

Ans X121 : 437

<2 33 : 1085
v3 11 : 118
X435 : 1221

QuestionID : 81616114
Status : Answered
Chosen Option : 3

Q4 e Ry o § omH @ O B 7 TR 9 @9 § 3 U SAE ¥l 3 A o H a0
F|

Ans x1_ m
<2 onfy
o 3 gom
<4 HT

Question ID : 8161614
Status : Answered
Chosen Option: 3

Q5 35 ordt & T wt, T & 7 o @ et o Ager g 51 gedr B

l=[=T=]
w

ﬂﬂ
PP P 6
A B C D

e X Faer A 3R B
v Faer B 3k C
X3 Faer B #R D
X4 FgeT B, C 3T D

Question ID : 81616121
Status : Answered
Chosen Option : 2
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Q.6 37 TEeT F TI FY, B SOY FEA ¥ T FEY § @Y T F TEer TEA B
7% 3208098 2
Ans ‘K' 1. 728
#< 21029
v 3 711
<4 743
QuestionID: 81616113

Status : Answered
Chosen Option : 3

Q7 Grafefla g@er & W REa (?) $F 9 W A awel R H TaT w1

A [ g
> | <> | <B>| ?
— ele — =V

.0

QuestionID: 81616119
Status : Answered
Chosen Option : 4
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Q.8 Frer Af¥eT wE swr & 'DEPEND' 1 'EPHTJJ' g =mam &1 3@ smr 3 'TRAVEL' =t 3% fomar
HATTT?

Ans X1 MGWEWY
< 2 MGZEXZ
v 3 MGYEWZ
<+ NGYFWZ

QuestionID : 8161617
Status : Answered
Chosen Option: 3

Q9 fr=fafeE F ¥ 9 @ 37 3N AR I F 9T gey Fr d9aT T @ o 32
Ans

QO

Question ID : 81616125
Status : Answered
Chosen Option : 4

Q10 Smfafle ser & sea-fed (?) & 9% W IS T&IT FoahT
87, 89, 92, 97, 104, 115, ? , 145
Ans - X1 133
v 2 128
<3132
< 4125

Question ID : 81616112
Status : Answered
Chosen Option: 2
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Q.11 mmmﬁmﬁwﬁaﬁmtqﬁrwmﬁgﬁ:mﬁaﬁmwtsa??rag

A 3 7 RE T ¥ e RmE & € o FIET F T 1 ey a5 = ¥ 5w
T HTEAOT AR B

e -

1. T TR, EF d
2 FT TERN, FHAUET

B
. F& FANT, TR
. FT v, TR

lIl. & FATTH, Te ¥

K T T | AR N IR =

X 2 Fae s 1l 3R 11 3o = E
X 3 Fae oy | 3R 11 e R E
v o @ fasws |, 11 3R 1 3gERT w E

Question ID : 81616111
Status : Answered
Chosen Option : 4

Q.12 ar sew-wsg g e € e @ O 5 7 o e v € i o e ) 5w smae

Ans

HFE-TIHE & T A
v 1. HMRV
# 2 BGLQ
< 3 KPUZ
< 4 OTYD

QuestionID: 8161613
Status : Answered
Chosen Option : 1
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Q13 & & 72 amplaat F F & TH TS F ASH FeA H FA WA I §| Tg FES Trer W

S R 22
Ans Ug%u
Xl oo
0AA
I
X2| gg
Y0
0 AAI]

O oa

«3 OO
0 vV I
0 A0
OO

Al =
ool

Question ID : 81616124
Status : Answered
Chosen Option: 3

Q.14 37 Reped &1 997 FX, o@H ewsl 7 9w & I ey & S A B A emmgem e
F 9= g

ey - antw
Ans 1. el : HHG
X 2 F=teT - freres
'3 ou3r o AT
X 4 AT ¢ QATERIENT

QuestionID : 8161616
Status : Answered
Chosen Option: 3
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Q15 fiw a1w waieor # wgfeT aXa F BT ST F & Thar A g Femat # sw F Sgar v
fge?

17 +11-12 x 36 + 6 = 80

e XK+ air- 63k 12
X2 x 3liT-; 17 3k 12
vix -6 3T 12
X4 x 3T - ;17 3k 11

Question ID : 81616117
Status : Answered
Chosen Option : 3

Q.16 37 fameT & == +Y, Tt FEmet & 9w & 9 w9y &, S = Gw v ageaa & Fwmt F
&= Bl

(11, 165, 209)
Ans %1 (15, 225, 275)
v 2 (12, 180, 228)
X 3 (14, 210, 276)
X 4 (17, 245, 323)

Question ID : 81616115
Status : Answered
Chosen Option : 2

WA+ Ba HF YA B w REr
A-Ba 3T ¢ A B Fraga &
A x B 3T E A B FITHE L,
A+ BF HTE A B Frar
afe, U+ HxL-Q+R-YZ & LFY T Far §ay 22
Ans X 1. HTAT
v o Fidr
<3 AT
< 4 T g

Question ID : 81616110
Status : Answered
Chosen Option : 2
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Q.18 fw s et & ewAEE v w1 HN 3W FEw oA w1, S 9o e (?) $ e 9w a3 wenr
gl

Ans

28 30

36

36 32

18

252 | 240

X 1268
v 2 162
X3 164
X 4 166

QuestionID: 81616116

Status : Answered
Chosen Option : 2
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Q19 g Rwed & o= &Y, Twd & 7§ aply X FafRa E (gaer & agafy a8 )

B

Figure X

Ans

([

v L

|
< 3. ._L-\1

]
e

Question ID : 81616122
Status : Answered
Chosen Option : 3

Q20 RrafafEe gEer & gea-fEe (?) H FE W M T HeW F TS H
0,B LCIDFE?
Ans X1 H
<2 K
vsiC
< 4N

Question ID : 8161611
Status : Answered
Chosen Option : 3
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Q.21 Ina certain code language, 'SERVANT is coded as '192182211420'. How will 'MAGNIFY" be coded as in that
language?

Ans X1 1426693625
< 2 1316143522
v 3 1317143625
X 4 1417139625

QuestionID: 8161618
Status : Answered
Chosen Option : 3

Q.22 ‘Beverages’ is related to ‘Tea’ in the same way as ‘Medicine’ is related to *

Ans  of" 1. Analgesics

& 2. Disease
7< 3. Doctor
#< 4. Hospital

Question ID : 8161615
Status : Answered
Chosen Option: 1

OB & sy # e e 32

N 7,
N\ /

Ans x1_ 18
X2 22
v': 20
X 4 24

Question ID: 81616120
Status : Answered
Chosen Option : 3
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Q.24 1 =l 2015 @ wfEa 3R gavn Fr g w1 AT 61 7 §) 3fEG, gEOT & = a¥ o F 1
=, 2010 T GION & A F4A A2

Ans (1. 2?3_&
X224 3§
X3 29 ¥
X432 a9

QuestionID : 81616118
Status : Answered
Chosen Option: 1

Q25 Crafafl swer & yea-fRea (?) # F9E 9T A T HEW-TAG FT TS HL
KQG, JTK, HXO, ECS, ?
Ans  of 1 AIW
< 2 BIX
<3 BIV
< 4 AHW

QuestionID: 8161619
Status : Answered
Chosen Option : 1

Section : General Awareness

Q.1 became the Prime Minister of Bhutan in November 2018.

Ans J 1. Lyonchhen Lotay Tshering

X 2. Lyonpo Sangay Ngedup
x 3. Lyonchhen Jigme Thinley

X 4. Lyonpo Sonam Tobgye

Question ID : 81616145
Status : Marked For Review
Chosen Option: 1

Q.2 , fagy o1 gaffdes Ford = [a giet <M, nfea d T &1
Ans X 1R

X 2. 3w

\fs. Y

X 4. st

Question ID : 81616137
Status : Marked For Review
Chosen Option : 2
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Q3 M F URE & AT 3R & GaTd SRR FA H T dedl &1
Ans o 1 el (qRf) AR

X 2. o ()

X 3. @ R e ()

/X 4. ot dfen (iR 7d)

Question ID : 81616133

Status : Marked For Review

Chosen Option : 3

Q.4 Name the Indian elected to the International Narcotics Control Board by the UN Economic
and Social Council on 23 April 2014 and re-elected by the Council for a 5-year term (2020-
2025) on 7 May 2019.

Ans X" 1.syed Akbaruddin
o 2. Jagjit Pavadia
x 3. Sudhir Rajkumar

75 4. Yasmin Ali Haque

Question ID : 81616150

Status : Marked For Review

Chosen Option : 2

Q.5 Calcium sulphate dihydrate is commonly known as
Ans X" 1 asbestos

x 2. limestone

J 3. gypsum
x 4. glass

Question ID : 81616132

Status : Answered

Chosen Option : 3

S

Q.6 SHARTEH YT WE thaveM (ISSF) &5 shie UTWT theet aTel Ugel WRETT i UT?
Ans  off 1 st fig

X 2. e

X 3. Fem g

25 4. AR

Question ID : 81616146

Status : Answered

Chosen Option : 1
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Q.7 Frafafla & & @ Wi & anffer aeror ) g st 87
Ans X 1. e e oy

P S ACEE O

< 3. R giferdh g

o 4 R sErers

QuestionID: 81616128
Status : Answered
Chosen Option : 4

Q.8 In economies, all productive resources are owned and controlled by the
government.

Ans X" 1. mixed

/X 2. dual
X 3. capitalist

( 4. socialist

Question ID : 81616129
Status : Answered
Chosen Option : 4

(93

Q.9 1 3rgyerfvh = T ____ dfed|
Ans X' 1 674

o 2.746
/< 3.647
/X 4.764

Question ID: 81616130
Status : Answered
Chosen Option : 2

Q.10 Fr=faif@a # 9 &9 U ufeig 'sheareft’ maes/ AT 9/fi?
Ans X" 1 v s

#< 2. i g

X 3. 33 1o ol

o 4. TR v el

Question ID : 81616143
Status : Answered
Chosen Option : 1
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Q.11 As of January 2020, which of the following countries had NOT independently launched a
human into space?

Ans X" 1 Russia
o 2. India
Z< 3.China
/X 4.UsA

Question ID : 81616148
Status : Answered
Chosen Option: 2

Q.12 F=faf@da & @ &9 a1 321 91ch (SAARC) T8 T 95 g1 8?7
Ans X' 1 Jure

o 2. 9=

/X 3. ufeem
X 4.

Question ID : 81616144
Status : Answered
Chosen Option: 2

Q.13 3magEr 2019 ¥, Tt YR fohdhe ahglet at< (BCCI) & afaa & wu d fages foram mmam ami
Ans X" 1 @ra e

X 2. g aeE

25 3. o ifef

W 2 aamE

Question ID : 81616147
Status : Answered
Chosen Option : 4

Q.14 The birth anniversary of
Ans X" 1. Alice Walker

is celebrated as 'International Nurses Day' every year.

J 2. Florence Nightingale
x 3. Clara Barton

X 4. Mother Teresa

Question ID : 81616142
Status : Answered
Chosen Option : 2
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Q.15 gfmdv A Ay Fugat AHEH ¥
Ans X 1 pRAfo

o 2 RfRErR

75 3. arrasry

/X 4. i

Question ID : 81616139
Status : Answered
Chosen Option : 2

e am
Ans X 1 frsupq
75 2. it

v sw

X< 4 e

Q.16 <ol & IoTpaR & wu F ufafla &= i 3 THe ____ & M= & SR WR &1 ERT

Question ID : 81616140
Status : Answered
Chosen Option: 3

Q.17 Which of the following is NOT a part of the brain?
Ans X" 1 Pons

x 2. Thalamus

( 3. Pinna

/5 4. Medulla

Question ID : 81616131
Status : Answered
Chosen Option : 4

Q.18 'Kiribath' is a rice dish from
Ans X" 1. Bhutan

x 2. Myanmar
x 3. Nepal
“ 4. Sri Lanka

Question ID : 81616127
Status : Marked For Review
Chosen Option : 4
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Q.19 sficiehT T Tad TST AR &1
Ans X1 &&

25 2. At

o 3 T

75 4. S

Question ID : 81616135
Status : Answered
Chosen Option : 3

Q.20 [ 21 & sifa wfigpa Tume Bl
Ans X 1. wgE

o 2. Ropa

X 3. RfEEr

75 4. it

Question ID : 81616138
Status : Answered
Chosen Option: 2

Q.21 Lucifer is another name for the planet
Ans X' 1 Mars

( 2. Venus
x 3. Saturn
x 4. Jupiter

QuestionID: 81616134
Status : Marked For Review
Chosen Option : 4

Q.22 The Gupta rulers imposed a fine called
cultivator owning a plough.

Ans « 1. Halivakara

x 2. Kara
75 3.sulka
x 4. Hiranya

which was a plough tax paid by every

Question ID : 81616141
Status : Answered
Chosen Option : 1
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Q.23 The process of coating grooves or engravings in ornaments with coloured enamels is called

Ans “ 1. Meenakari
x 2. Chikankari

x 3. Zardozi
x 4. Phulkari

Question ID : 81616126
Status : Answered
Chosen Option: 1

Q.24 fREER 2019,k MIRd I HaH TS Shedl de ATYfeiehd! ATI
Ans X" 1. dgeh aRe SR

X 2w

75 3. g eRe

Vs

Question ID : 81616149
Status : Answered
Chosen Option : 2

Q.25 The city of
Ans x 1. Guangzhou

x 2. Lhasa
/< 3. Beijing

“ 4. Shanghai

is located at the mouth of the Yangtze River.

Question ID : 81616136
Status : Marked For Review
Chosen Option : 4

Section : Quantitative Aptitude

Q1 g wEae 5 : 7 % eua & §1 afy e wwar 20 3, o gEd §ear A el
Ans X122

<28

<318

v 28

Question ID : 81616157
Status : Answered
Chosen Option : 4
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2 27@@ —242h® FTHAE FaeT |

Ans

< 1. (3a—+2b)(9a® + 2b? + 6+/2 ab)
X 2 (3a—+/2b)(9a® — 2b* — 3+/2 ab)
v 3 (3a—+/2b)(9a? + 2b? + 32 ab)
X 4 (3a—+2b)(9a® — 2b? + 6+/2 ab)

Question ID : 81616163
Status : Answered
Chosen Option: 3

Q.3 o faar & 263,000 & 6 fHems #ofter &=ff 3 3@ 5% 7 ey gam X 7@ 15% awer Ao
FIAT TEAT &, & 38 8 Wi fhae F duel =fyw?

Ans 1. 269,300
X 2 392,400
X 3. 288,200
v 2 92,000

Question ID : 81616156
Status : Answered
Chosen Option : 4

Q.4 The number of students enrolled in different faculties in a school is as follows:

Science Arts Commerce | Vocational

Boys | Girls | Boys | Girls | Boys | Girls | Boys | Girls

35 18 25 47 45 40 10 30

The percentage of students studying in Science or Vocational subjects is:
Ans  of 1. 37.2%
X 2 93%
X< 3. 50%
X 4 25%

Question ID : 81616175
Status : Answered
Chosen Option: 1
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Q5  tan 30° +tan 60°

FT AT AT FaT)

cos 30°
Ans 8

v

X243+3
. 8
X&E

X4 1+4/3

Question ID : 81616171
Status : Answered
Chosen Option : 1

Q.6 A fomelr w #r 20 AT F W W Fhar § AR B 33 F F 25 AT F @ FT Fhar Fl 5@ R
Y F TR B, AR B 7 5 RET ¥ ag F1w o T 9w w9 # 9 e § A A A e
st wEEre

Ans o111

X2 21
X 16

X4 8

Question ID : 81616159
Status : Answered
Chosen Option : 1

Q7 AABC #, 3fe AB = AC &T £BAC = 40°, & 4B &7 AT AT Hifaw)
Ans Jl 70°

X< 2 40°

< 3 60°

< 4 50°

Question ID : 81616167
Status : Answered
Chosen Option : 1

Download More Papers From www.GovtJobsAlert.In




Download More Papers From www.GovtJobsAlert.In

Q.8
Ans 19
" T
8
. 9
Koo~
8
. 1
p
12
. 1
-
3

Question ID : 81616152
Status : Answered
Chosen Option: 1

=

Q.9 From the following table, how many patients were in the age group 40-60?

Age (years) less less less less less less less
than 10 | than 20 | than 30 | than 40 | than 50 | than 60 | than 70
No. of patients | 11 15 22 29 35 45 50
Ans X 1. 45
X2 29
<36
v 16
Question ID: 81616173
Status : Answered
Chosen Option : 4
s

Q.10 The simple interest on a certain sum at the end of three years at 5% p.a. is T1,200. The compound interest on the same

sum for the same period at the same rate is (interest compounded yearly):

Ans X1 31,260
< 2 31,800
< 3. 2820
v 4 %1261

Question ID : 81616158
Status : Answered
Chosen Option : 4
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Q1 gig FamE o7 TEE F AwT M ) TR T ofT B TEAT s e Y A Ay £ ot
TH HEaTHt F stee s geme

Ans o 1. M+5
<211
<310
K4 M+10

Question ID : 81616153
Status : Answered
Chosen Option : 1

Q.12 gy 94+2357 & * # B0 3% T TATARE =T 9RT, O 58 T 11 ¥ e a@e
Ans Jl 3

<28

<37

X4 1

Question ID : 81616151
Status : Answered
Chosen Option: 1

Q13 FfX 2sin6—8cos?8+5=0, 0°< 8 < 90°, & @ (tan 20 + cosec 20) AT FAT &2

Ans
v S_‘ﬁ

Question ID : 81616169
Status : Answered
Chosen Option : 1
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Q14 Ffeer F R 71w sHiwst & 3ER, 20 1 3 JVF I TS AT o F AAAT FAT 7

Ec 0-5

5-10| 10-15

15-20

20-25

25-30

30-35

35-40

omEr e | 13

15

18

12

14

19

6

3

Ans Jl 429,
X 2 58%
<3 14%
< 4 54%

Question ID : 81616172
Status : Answered
Chosen Option: 1

Q15 5 cm fysar Ao v g F, U ST FE A 3 om F gl W {1 SheEr A o = S

Ans X1, 7 em
v 2 8 cm
<3 4 cm
<43 cm
Question ID : 81616165
Status : Answered
Chosen Option : 2
Q.16

(a+b—c+d)?—(a—b+c—d)> FTAHTITIRZCI

At X1 2a(a+b—rc)
X2 4a(b—d+c)
X3 2a(b+c—d)

v 4a(bF d—c)

Question ID : 81616162
Status : Answered
Chosen Option : 4
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Q17" 1n the figure, what is the value of cot8?

Ans 8

Question ID : 81616170
Status : Answered
Chosen Option: 3

Q18 The curved surface area of a hemisphere with radius 7 cm is:
(Take 7 = % )

Ans

# 1. 385 cm?
v 2. 308 cm?
< 3 462 em?
X 4 616 cm?

Question ID : 81616161
Status : Answered
Chosen Option : 2
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Q.19 The table below shows income (in rupees) for a particular month, together with their sources in respect of 5 employees
A.B.C.D,and E.

Employee A B C D E
Salary 52.000 | 48.500 | 42,000 | 31,000 | 25.000
Overtime 0 o 1.500 | 2.500 |3.200
Arrears 5.500 |4.500 | 4.000 |3,000 |1.500
Bonus 3,500 |3.000 |2,500 (2,000 [2.000
Miscellaneous income | 5.000 | 3.000 | 2,000 | 1.500 ]
Total 66,000 | 59,000 | 52,000 | 40,000 | 31,700

How many employees have their salary more than four times their other incomes?

Ans  of 1 2
X2 4
<31
K43

Question ID : 81616174
Status : Answered
Chosen Option : 1

Q.20 zfy ey T=ar F 62% 3T 80% ¥ &= & 3o 198 ¥, ot 39 FEA & 92% 3T 56% F &= F AT
AT Frfaw

Ans X1.1100
< 2 360
X 3 3564
v 396

Question ID : 81616155
Status : Answered
Chosen Option : 4

Q.21 Zr uresh FAer 100 m/min 3T 120 mimin #F 71T & atsd &1 3R g7 uew gl @ == &, wa
oTaw & 10 feie 7 @A oar &, o i Ghaer w@sr 37

Ans X 1.1 km
v'2 8 km
<3 4 km
<4 2 km

Question ID : 81616160
Status : Answered
Chosen Option : 2
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Q22 o mfea & el el aTg W W AR e 3fed (AT S 39 40% F ST @1 ot W
T el (sale) Fr whwom F HT 3H TEg F HHT qew W 20% Fr gE § 5T P A= Hr giEA
# wafFa & @ aar AT gfaee &= 22

Ans x 1. 30%
v 2 12%
X3 32%
X 4 20%

Question ID : 81616154
Status : Answered
Chosen Option : 2

Q.23
3642 of 6X7+24x6+18+3+(2—6)—(4+3x2)+8 FT JAT AT BT
21+30f 7
Ans
Ko 1
7
. 1
X2 8=
2
. 1
K3 7=
2
Vg

Question ID : 81616164
Status : Answered
Chosen Option : 4

Q24 & =% st &, AP, LBAC Fr WHfsST #TaT #13f AB = 4 cm, AC = 6 cm 3 BP = 3
cm g, o CP &I d&rs AT il

A

/>y

B P [

Ans of' 1. 45 cm
<23 cm
<35 cm
X 47 cm

Question ID : 81616168
Status : Answered
Chosen Option : 1
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Q.25 & ¢ sy H, AP 3% BP, &5 O a& s Ioa 97 Toe@nt | afy 2APB=62° ¥ & £AQB &
AT AT BT

Question ID : 81616166
Status : Answered
Chosen Option : 1

Section : English Comprehension

Q.1 Select the most appropriate meaning of the given idiom.

Blow one's own trumpet

Ans X" 1 Follow others
J 2. Praise oneself
x 3. Condemn others

x 4. Be self-reliant

Question ID : 81616195
Status : Answered
Chosen Option : 2

=

Q.2 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No improvement.

My shoes were worn out so | had to buy a new one.
Ans X" 1. anew ones

X 2. the new oné's

( 3. new ones

x 4. No improvement

Question ID : 81616181
Status : Answered
Chosen Option: 3

Download More Papers From www.GovtJobsAlert.In




Download More Papers From www.GovtJobsAlert.In

Q.3 Select the INCORRECTLY spelt word.
Ans x 1. Piteous

J 2. Patrner
x 3. Pierce
x 4. Pursue

Question ID : 81616198
Status : Answered
Chosen Option : 2

Q.4 Select the INCORRECTLY spelt word.
Ans ( 1. Negociate

x 2. Negligible
x 3. Nuisance

x 4. Necessary

Question ID :' 81616199
Status : Answered
Chosen Option: 2

=

Q.5 In the sentence identify the segment which contains the grammatical error.

Deepa walked down the road slowly without looking anybody.
Ans x 1. slowly without

x 2. down the road
x 3. Deepa walked

J 4. looking anybody

Question ID : 81616176
Status : Answered
Chosen Option : 4

=—
Q.6 Select the option that expresses the given sentence in reported speech.

She said to me,' What time is your flight tomorrow?"

Ans “ 1. She asked me what time my flight was the following day.
X 2. She asked me that what time was my flight tomorrow.
x 3. She asked me what time is my flight the next day.

X 4. She asked me what time my flight will be the next day.

Question ID : 81616179
Status : Answered
Chosen Option : 1
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Comprehension:

In the following passage, some words have been deleted. Select the most appropriate option
to fill each blank.

Watermelon is thought to have originated in Africa's Kalahari Desert. Believe it (1) not,
the first recorded watermelon harvest (2) nearly 5000 years ago in Egypt and is

(3) in Egyptian hieroglyphics on the walls of their (4) buildings. This fruit was
often placed (5) the burial tombs of kings to provide nourishment in the afterlife.

SubQuestion No : 7

Q.7 Select the most appropriate option to fill in blank 1.
Ans 1 if
x 2.and
X 3. but
J 4. or
Question ID : 81616183
Status: Answered
Chosen Option : 4
Comprehension:
In the following passage, some words have been deleted. Select the most appropriate option
to fill each blank.
Watermelon is thought to have originated in Africa's Kalahari Desert. Believe it (1) not,
the first recorded watermelon harvest (2) nearly 5000 years ago in Egypt and is
(3)______in Egyptian hieroglyphics on the walls of their (4) buildings. This fruit was
often placed (5) the burial tombs of kings to provide nourishment in the afterlife.
SubQuestion No : 8
Q.8 Select the most appropriate option to fill in blank 2.
Ans x 1. contained
x 2. discovered
x 3. produced
J 4. occurred
QuestionID: 81616184
Status : Answered
Chosen Option : 4
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Comprehension:

In the following passage, some words have been deleted. Select the most appropriate option
to fill each blank.

Watermelon is thought to have originated in Africa's Kalahari Desert. Believe it (1)
the first recorded watermelon harvest (2) nearly 5000 years ago in Egypt and is

3) in Egyptian hieroglyphics on the walls of their (4) buildings. This fruit was
often placed (5) the burial tombs of kings to provide nourishment in the afterlife.

not,

SubQuestion No : 9
Q.9 Select the most appropriate option to fill in blank 3.

Ans X 1 diverted
X 2. directed
X 3. distributed

J 4. depicted

Question ID : 81616185
Status: Answered
Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Select the most appropriate option
to fill each blank.

Watermelon is thought to have originated in Africa's Kalahari Desert. Believe it (1) not,
the first recorded watermelon harvest (2) nearly 5000 years ago in Egypt and is

(3) in Egyptian hieroglyphics on the walls of their (4) buildings. This fruit was
often placed (5) the burial tombs of kings to provide nourishment in the afterlife.

SubQuestion No : 10
Q.10 Select the most appropriate option to fill in blank 4.

Ans X" 1 obsolete

x 2. elderly
J 3. ancient

X 4. outdated

Question ID : 81616186
Status : Answered
Chosen Option: 3
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Comprehension:

In the following passage, some words have been deleted. Select the most appropriate option
to fill each blank.

Watermelon is thought to have originated in Africa's Kalahari Desert. Believe it (1)
the first recorded watermelon harvest (2) nearly 5000 years ago in Egypt and is
(3)_____ in Egyptian hieroglyphics on the walls of their (4) buildings. This fruit was
often placed (5) the burial tombs of kings to provide nourishment in the afterlife.

not,

SubQuestion No : 11
Q.11 Select the most appropriate option to fill in blank 5.

Ans & 1 with
W 2.in
X 3. along
/< 4. after

Question ID : 81616187
Status: Answered
Chosen Option : 2
Q.12 Select the most appropriate one word substitution for the given group of words.
A place where clothes are kept
Ans x 1. Coffin
x 2. Hangar
75 3. Shaft
J 4. Wardrobe
Question ID : 81616196
Status : Answered
Chosen Option : 4
Q.13 Select the most appropriate antonym of the given word.
FLEXIBLE
Ans x 1. Supple
75 2. Soft
o 3. stiff
X 4. Stale
Question ID : 81616192
Status : Answered
Chosen Option : 3
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Q.14 Select the most appropriate synonym of the given word.

GLORIOUS
Ans x 1. enormous

q 2. splendid
X 3. unusual
x 4. gentle

Question ID : 81616190
Status : Answered
Chosen Option : 2

Q.15 Select the most appropriate option to fill in the blank.

The students went to their
Ans X" 1 respectable

x 2. respectful
x 3. respected
J 4. respective

classes after the morning assembly.

Question ID : 816161101
Status : Answered
Chosen Option : 4

Q.16 Select the most appropriate antonym of the given word.

VIGILANT
Ans X" 1 Cautious

x 2. Wary
o 3.Rash
x 4. Alert

QuestionID: 81616193
Status : Answered
Chosen Option : 3

— =

Q.17 Select the most appropriate synonym of the given word.

IMPLORE
Ans x 1. Refuse

x 2. Command

x 3. Honour
q 4. Plead

Question ID : 81616191
Status : Answered
Chosen Option : 4

Download More Papers From www.GovtJobsAlert.In




Download More Papers From www.GovtJobsAlert.In

Q.18 In the sentence identify the segment which contains the grammatical error.

Everything that | like to eat are fattening.
Ans X" 1. Everything that

X 2. 1like
x 3. to eat

J 4. are fattening

Question ID : 81616177
Status : Answered
Chosen Option : 4

Q.19 Select the most appropriate option to fill in the blank.

The government has warned the traders not to onions.

Ans X" 1 bulk
x 2. gross
75 3. combine
o 4 hoard

Question ID: 816161100
Status : Answered
Chosen Option : 4

Q.20 Select the most appropriate meaning of the given idiom.

Spill the beans
Ans X 1. Work hard

J 2. Give away a secret
x 3. Perform magic

X 4. Waste money

Question ID : 81616194
Status : Answered
Chosen Option: 2

Q.21 Given below are four jumbled sentences. Out of the given options pick the one that gives
their correct order.

A. It requires physical endurance, which can be built with training and exercise.

B. Truly strong personalities meet challenges of life bravely and face hardships with
equanimity.

C. However, strength of character is a personality trait or a quality.

D. Physical strength is the ability to cope with a physically challenging task.

Ans  of 1 DACB

/5 2.DBCA
75 3.BACD
/5 4.CBAD

QuestionID: 81616189
Status : Answered
Chosen Option : 1
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Q.22 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No improvement.

He sing always when he is having a shower.

Ans x 1. Always he is singing
X 2. No improvement
x 3. He always sing

( 4. He always sings

Question ID: 81616180
Status : Answered
Chosen Option : 4

Q.23 Select the most appropriate one word substitution for the given group of words.

A person very reserved in speech
Ans ( 1. Reticent

x 2. Eloquent
X 3. Adamant

x 4. Confident

Question ID : 81616197
Status : Answered
Chosen Option : 1

Q.24 Select the option that expresses the given sentence in passive voice.

Martin drew a picture of the snow-capped mountains.

Ans ( 1. A picture of the snow-capped mountains was drawn,by Martin.
X 2. A picture of the snow-capped mountains is drawn by Martin.
x 3. A picture of the snow-capped mountains is being drawn by Martin.

x 4. A picture of the snow-capped mountains has been drawn by Martin.

Question ID : 81616178
Status : Answered
Chosen Option : 1

Q.25 Given below are four jumbled sentences. Out of the given options pick the one that gives
their correct order.

A. He then called out to the people but by then only a red glow was visible in the sky.
B. At first, he thought it was a stuck kite.

C. Bheema was visiting his fields when he spotted a rising disc shaped object.

D. But when it started rising higher and emitted light, he was shocked.

Ans X" 1.CDAB

75 2.BACD
o 3.cBDA
/5 4.BDAC

Question ID : 81616188
Status : Answered
Chosen Option: 3
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